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Assumne  that the circuil is in steady state at (=07, find v(t =07} when
the switch 15 connected tw the wvoltage szource, (15%)

2. (a) Find R that  will result in the maximum power absorption by this
registor;  and {7%)

k) find the magnitude of this maximum power. {3%)

3. Find the average power dissipated in the 10-0 rtesistance, whers the
turng ratio of the transformer n 1 defined as n=N./N,. {10%)
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4. Giventhat ¥, = 20042 cos(500¢ + 45} in the circuit shown in Figure P4, please
find v, and i, and draw the phasor diagram for v, v, v, ¥y, V0o, L.y, and 1.

(Hist: tan76 =4, m@ands =1 +2=1414 +17=4123)
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Figure P4
5. In the network shown in Figura BS, Bnd the resonant freguency @ in terms of
LOR R {10%)
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Figure P35
b, Find the transtnssson matrix of the circuit shown in Figure P6. The transformer is
an ideal one whose turns ratio is #. [10%)
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A balanced delta connected load has phase impedance of z=12 £ 507

ohms and is supptied by a 240 Volts, 60 Hgz, three phase line, Calcu-
tate (e rteading of the ideal watimemr s shown below (15%)

{2) For the following network, find the mns wvalue of v

(b} the average power absorbed by the resistince
(c)  state the comdition such that superposition of power holds.

(15 %)
—t V.é - + .Vi._
OO V, =10V
-+ vV + ¥, =20 cos 20t V
UIO E.L éSL‘rl e =30 sin 2t V

- V', =50 cos 40t V




